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The following table shows the amount of fuel (y litres) used by a car to travel certain

distances (x km).
Distance (x km) 40 75 120 150 195
Amount of fuel (y litres) 3.6 6.5 9.9 13.1 16.2

This data can be modelled by the regression line with equation y=ax+5.
(@ (i) Write down the value of @ and of 5.
(if) Explain what the gradient a represents. [3]

(b) Use the model to estimate the amount of fuel the car would use if it is driven 110km. [2]

#iT, HOEPXkmAEST-E X ITHEIREOREY L LI EDOT—FERLELDTY,
ZOF—H IR FERy=ax+bic L VIR L =R E RO F T,
(@) @) a, bOEERDIRE 0N,
Q) B EalIfizER L ET 0,
M) BUFRZEME - T, ZOHEN110kmAE 72 & X126 9 Bt O BEZ TR L2 S0,



